2 - LANE HIGHWAY

1. ATS=FFS-0.00776 { - ﬁp 2. PTSF = BPTSF + finp =57.7%+12.7%=10.4%

20/mile 4
10'
3 Shoulder

la. FFS =BFFS - {5 - &1

2a. BPTSF = 100(1 - """ % ) =sr.7%

FFS = (65+5) - 3.7 - 5.0 =/61.3mph
imit.
posted speed limit pc/h Vveh/hr Table 3.10
b pc/h Vel Tabe39 Jbh, V= PHF * £, * £, fanp=12.7%
V= PHF * £, * f, fip=26 v
HI v A Vp= 0 a0 100 = 980 po/h
700 , P= (0.80)(0.94)(0.95) P
Roling ,Vp= 0.80)(0.93)0.01) = 1034pch  100%npZone ;0w Foowing” / 70%/30% Directional
=~ Vp=1034 | Tables forfo& f Vp< 1200 split
Assume Vp=V =700 e & T . : \
Use "Speed” Tables for f- & f Vp< 1200 «= No lteration Vp=980
Se‘ pee aples Or1 G HV s NO 'teratlon 1 - O 95 100% np Zone
Formula: 1+(0.10)(1.5- 1) + (0.05)(1.0-1)
14R; (Eq-1) + Py (Eg-1)
; PTSF = 57.7% + 12.7% = 70.4%
14(0.10)(1.9 - 1) + (0.05)(1.1 - 1)~ 91
@ Figure 3.3 (Exhibit 20-3)

ATS = 61.3 - 0.00776(1034) - 2.6
ATS =61.3-8.0-2.6

ATS =50.7 mph

alculated

® V/C= Volume-to-Capacity Ratio =\C,P = %ﬁ% =0.32

2200 pc/h

SUPPLEMENTAL CALCULATION /C Largest

avg. travel time\ Distance
-

_  20miles _ .
® TTave = ATS = 507 milesihr. 0.39 hours (23.7 minutes)

Average Trav‘el Speed




